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Q1) Answer any two part of the following : [2 × 5 = 10]

a) State and define Kirchhoff's current law and Kirchhoff's voltage law.

b) Compare magnetic and electric circuits.

c) Define and explain the Norton's theorem and superposition theorem.

Q2) Answer any two parts of the following : [2 × 5 = 10]

a) Explain the construction and working of Lead-acid battery.

b) Define the following terms and write their unit :

i) Frequency

ii) Admittance

iii) Energy

iv) Reluctance

c) State the following laws :

i) Lenz's law

ii) Fleming's left hand Rule

iii) Faraday's second law of electromagnetic Induction

Q3) Answer any two parts of the following : [2 × 5 = 10]

a) Discuss ideal current source and practical current source. Draw its symbol and characteristics.

b) Define power factor. Discuss in brief different types of electrical power and power triangle.

c) Write the advantages of 3-d system over 1-d system.

Q4) Answer any two parts of the following : [2 × 5 = 10]

a) Draw and explain in brief the block diagram of thermal power plant.

b) Write a short note on :

i) Secondary cell

ii) Solar cell and its applications

iii) RMS value

c) Explain self induced emf and mutual induced emf.

Q5) Answer any two parts of the following : [2 × 5 = 10]

a) Write the expression for equivalent resistance and voltage division when 3-relistances are connected in series.

b) Explain series R-L-C circuit in detail.

c) Describe the parallel resonance in an AC circuit.
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NOTES :

i) Attempt all questions.

ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{OE &

à.à.à.à.à.1) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| Ho$ CÎma {X{OE … [2 × 5 = 10]

A) {H$aMm°\$ Ho$ H$a§Q> H$mZwZ Am¡a {H$aMm°\$ dmoëQ>oO H$mZwZ H$mo ~VmE§ Am¡a n[a^m{fV H$a| &

~) M§w~H$s` Am¡a {dÚwV n[anW H$s VwbZm H$a| &

g) Zm°Q>©Z à_o` Am¡a gwnanmo{OeZ à_oo` H$mo n[a^m{fV H$a| Am¡a g_PmE§ &

à.à.à.à.à.2) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| Ho$ CÎma {X{OE … [2 × 5 = 10]

A) Lead E{gS> ~¡Q>ar H$s g§aMZm Ed§ H$m`© àUmbr H$mo g_PmB`o &

~) {ZåZ{b{IV nXm| H$mo n[a^m{fV H$a| Am¡a BZH$s BH$mB© {bI| …

i) Frequency

ii) Admittance

iii) D$Om© (Energy)

iv) Reluctance

g) {ZåZ{b{IV {Z`_ ~VmE§ …

i) boÝO H$m {Z`_

ii) âbm¡q_J Ho$ ~mE§ hmW H$m {Z`_

iii) \¡$amS>o H$m {dÚwV Mwå~H$s` àoaU H$m Xÿgam {Z`_

à.à.à.à.à.3) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) AmXe© Ymam òmoV Am¡a ì`mdhm[aH$ Ymam òmoV na MMm© H$a| & BgH$m àVrH$ Ed§ {deofVmE± ~ZmB`o &

~) e{º$ H$maH$ (p.f) H$mo n[a^m{fV H$a| & {dÚwV e{º$ Ho$ {d{^Þ àH$mam| Am¡a e{º$ {Ì^wO na g§jon _| MMm© H$a| &

g) EH$b (MaU) H$br` àUmbr H$s VwbZm _| VrZ-(MaU) H$br` àUmbr Ho$ bm^ {b{IE &

à.à.à.à.à.4) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| Ho$ CÎma {X{OE … [2 × 5 = 10]

A) Vmn {dÚwV g§`§Ì H$m ãbm°H$ AmaoI ~ZmH$a g§jon _| g_PmB`o &

~) g§{já {Q>ßnUr {bI| &

i) {ÛVr`H$ gob

ii) gm¡a gob Am¡a CgHo$ AZwà`moJ

iii) Ama E_ Eg value

g) ñd-ào[aV B© E_ E\$ Am¡a nmañn[aH$ ào[aV B© E_ E\$ H$s ì`m»`m H$ao &

à.à.à.à.à.5) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| Ho$ CÎma {X{OE … [2 × 5 = 10]

A) O~ VrZ à{VamoY l§¥Ibm (series) _| Ow‹S>o hm| Vmo g_Vwë` à{VamoY Am¡a dmoëQ>oO {d^mOZ Ho$ {bE A{^ì`{º$ {bI| &

~) l§¥Ibm Ama Eb gr (R-L-C) g{H©$Q> H$mo {dñVma go g_PmB`o &

g) EH$ E gr (AC) n[anW _| g_mZm§Va AZwdmX na MMm© H$a| &
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